
�"� ) �OP U�: EjJ 

 + 
�& )<	T �OP �	�	�: 

= 
K� �OP :�  U�:b :	 EjJ 

 

JD$&/JD$&/JD$&/JD$&/MathematicsMathematicsMathematicsMathematics    
24242424----25 / P25 / P25 / P25 / P----9999----3333    

� � � � � � � �     !"#$ !"#$ !"#$ !"#$ %& '( ) %& '( ) %& '( ) %& '( ) �# ) �*+,	 / �# ) �*+,	 / �# ) �*+,	 / �# ) �*+,	 / VedaVedaVedaVeda    BBBBhushan hushan hushan hushan FourthFourthFourthFourth    Year Year Year Year ExaminationExaminationExaminationExamination    
:,	 :,	 :,	 :,	 9999�;�;�;�;    / / / / �"� ) <=<	�"� ) <=<	�"� ) <=<	�"� ) <=<	    ----    IIII    / Class / Class / Class / Class 9999thththth    / / / / Purva MadhyamaPurva MadhyamaPurva MadhyamaPurva Madhyama    ----    IIII    

SET SET SET SET ----    AAAA    

 

    1111    �# )/�# )/�# )/�# )/Year Year Year Year ----    2022022022024444----22225555    
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����....1111....    �Q+ D�:� :�  �	<T �  (�Q+ D�:� :�  �	<T �  (�Q+ D�:� :�  �	<T �  (�Q+ D�:� :�  �	<T �  (✓) ) ) ) D%�D%�D%�D%�        MJ	KYMJ	KYMJ	KYMJ	KY    / / / / Tick Tick Tick Tick ((((✓))))    the correct option.the correct option.the correct option.the correct option.    2222    × × × × 10101010    = = = = 22220000 

1. DT�DMD]& <L � � :�T U�D*<�E ���	 QV ? 
 Which of the following is a irrational number ? 

 (U) √2  

√2  
  (|) �

�
 

 (K) �

√�  
  (w) −2 

2. D:�+ !+ �vT	 :+ UD�:&< �	DE:&	 �	 QV ? 

 What is the maximum probability of any event ? 

 (U) 0   (|) 1 

 (K) 100  (w) 1000 

3. DT�DMD]& <L � � :�T-�	 Y: *VD]: u��  QV ?  
 Which of the following is a linear polynomial ? 

 (U) x2  (|) 7x 

 (K) x − x
 (w) �
 + 1 

4. U�)�O[ <L :j$ Qj&	 QV - 
 Angle in Semi-circle is - 
 (U) l"T:j$ (|) �<:j$ 
  Acute Angle  Right Angle 
 (K) UD�::j$ (w) KT<L � � :jw TQ; 
  Obtuse Angle  None of these 
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5. � VD : JD$& :�  ��! ) <L :�T-�	 :(T U�W QV ? 
 Which statement is false regarding Vedic Mathematics ? 
 (U) u+�	�: :	 U( ) QV- ‘|D�: EjJ’  
  The meaning of 'Bijank' is 'numerical additions'. 
 (|) |�	* ���	 � � :< E	 UD�: ���	 :j D�%MT :Q&� QR S 
  A number less or more than the base number is called deviation. 
 (K) |�	* ���	 Q<�X	 10 :�  J '$� :�  ~� <L Qj&+ QV S 
  The base number is always a multiple of 10. 
 (w) 102 <L |�	* 100 Y�� D�%MT (–2) QVS  
  In 102, the base is 100 and the deviation is (–2). 
6. D�! '� :�  ��! ) <L :�T-�	 �W TQ; QV ? 
 Which is not true regarding triangle ? 

 (U) D:�+ D�! '� <L  j ! '�	 :	 EjJ, Ul ! '�	 � � � V� UD�: Qj&	 QV S 
  The sum of two sides in a triangle is always greater than the 

other side.  

 (|) D�! '� :�  &+Tb :j$b :	 EjJ 3600 Qj&	 QVS 
  The sum of all the three angles of a triangle is 360� . 

 (K) D�! '� <L &+T ! '�	Y k Y�� &+T :j$ Qj& � QR S 
  A triangle has three sides and three angles. 

 (w) �Q D�! '� D��:	 Y: :j$ 900Qj �<:j$ D�! '� :QM	&	 QV S 
  A triangle whose angle is 90� is called a right-angle triangle. 

7. 23� D��:'M< ���	 :j �	<	l ���	 <L �D*�D& )& :*T � �* �	� <	T QjJ	 - 
 The value obtained by converting 23� Vinkulam number into normal number 

will be - 
 (U) 17  (|) 27 

 (K) 37  (w) KT<L � � :jw TQ; 
     None of these 
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8. �T :'M �OP+E , ���M - / Total Surface Area of a Cube - 

 (U)  6��  (|) 6�

 

 (K) 6a   (w) 4�

 

9.  j %* <L *VD]: �<+:*$ :	 �	�: ~� QjJ	 – 
 A general form of linear equation in two variable will be - 

 (U) ax + by + c = 0 (|) ax +by +c 

 (K) ax + c = 0 (w) by + c = 0 

10. DT�DMD]& <L � � :�T-�	 :(T �W TQ; QV – 
 Which of the following statement is not true - 
 (U) UD�:&< <	T Y�� l 'T&< <	T :�  U�* :j �D*�* :Q&� QV S 
  The difference between the maximum value and the 

minimum value is called Range 
 (|) D Y JY |�:�b <L �j <	T E	 ���	 �u� � UD�: u	* |&	 QV, Z� � u�M: :Q&� QRS 
  The value or number that occurs most frequently in the given 

data is called Mode. 
 (K) UD�:&< <	T Y�� l 'T&< <	T :�  U�* :j |�OD[ :Q&� QR S 
  The difference between the maximum value and the 

minimum value is called frequency. 
 (w) |�:�b 9, 5, 5, 3, 2, 6 :	 �D*�* 7 QVS 

  The range of data (9, 5, 5, 3, 2, 6) is 7. 

����....2.2.2.2.    D*s \	Tb :+ �"D& ) :+D�Y D*s \	Tb :+ �"D& ) :+D�Y D*s \	Tb :+ �"D& ) :+D�Y D*s \	Tb :+ �"D& ) :+D�Y ––––    ////    Fill in the blanksFill in the blanksFill in the blanksFill in the blanks    ––––            2222    × × × × 5555    = 10= 10= 10= 10    

1.  j ��	�J�< :j$b <L � � Y: :j$ :+ 800 <	� QV &j ��*� :j$ :+ <	� ……… QjJ+ S 

Out of two congruent angles, the measure of one angle is 800 then the  

          measure of the other angle will be ……………  
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2. �	DE:&	 :	 <	T Q<�X	 .....................  * ....................... :�  u+% Qj&	 QV S 

 The value of probability always lies between ..................... and ....................... 

3. D�T:'M< ¡ ��¢ E	 44� :j �	<	l ���	 <L .................. DM]&� QRS 

 The longest chord of a circle is ............... 

4. ���	 19 :	 D�%MT ...............  QV S 

 Deviation of number 19 is ............... 

5. 5000 �T � �.<+.    =    ………………. M+v* 

 5000 cubic cm = ………………. litres 
����....3333....    DT�DMD]& E '£<b DT�DMD]& E '£<b DT�DMD]& E '£<b DT�DMD]& E '£<b     :�  D<M	T :�  D<M	T :�  D<M	T :�  D<M	T �* �* �* �* D�%	*D�%	*D�%	*D�%	*    :+D�Y :+D�Y :+D�Y :+D�Y ––––            2222    × × × × 5555    = = = = 11110000    
    Consider matching the following pairs Consider matching the following pairs Consider matching the following pairs Consider matching the following pairs ----    

1. DTD¤& �vT	 :+ �	DE:&	    :.      �
 + 2 
 Probability of a certain event 

2. D{�	& u��   ]. 9x + 4y = 0 
 Quadratic polynomial    

3. ��	�J�< D%�  J. ∑ 
 Congruent Sign 

4. D�£<	 D%�  �. ≅ 

 Sigma Sign 

5.  j %* <L *VD]: �<+:*$ ¥. 1 
 Linear equation in two variable 

����....4444....    �W / U�W �W / U�W �W / U�W �W / U�W     :(T �* D�%	* :+D�Y:(T �* D�%	* :+D�Y:(T �* D�%	* :+D�Y:(T �* D�%	* :+D�Y    ––––            1111    × × × × 5555    = 5= 5= 5= 5 
    Consider the true / false statement Consider the true / false statement Consider the true / false statement Consider the true / false statement ----    

1. π  Y: �D*<�E ���	 QV S 

 �   is a rational number. 

2. u��  5x3+ 3y :+ �	& 5 QVS 

 The power of the polynomial 5x3 + 3y is 5. 
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3. ���	 531 :	 u+�	�: 9 QV S 
 The bijank of number 531 is 9. 

4. 17, 15, 19, 20, 17, 5, 6, 9, 13, 18, 17, 5, 9, 6, 19 <L 17 :+ u	*§	*&	  3 QV S 
 In 17, 15, 19, 20, 17, 5, 6, 9, 13, 18, 17, 5, 9, 6, 19 the frequency of 17 is 3. 

5. (:$ ))2 + (M§)2 = (|�	*)2 
 (Hypotenuse)2 + (Perpendicular)2 = (Base)2 

    Z�E ')s Z�E ')s Z�E ')s Z�E ')s :(Tb :j:(Tb :j:(Tb :j:(Tb :j    �¨:*�¨:*�¨:*�¨:*    �Q+�Q+�Q+�Q+    D�:� :	 %ET :+D�Y D�:� :	 %ET :+D�Y D�:� :	 %ET :+D�Y D�:� :	 %ET :+D�Y ––––    
    Read the above statements and choose the correct option Read the above statements and choose the correct option Read the above statements and choose the correct option Read the above statements and choose the correct option ----    
 (U)  (1) �W, (2) U�W, (3) �W, (4) �W, (5) �W  
  (1) True, (2) False, (3) True, (4) True, (5) True 
 (|)  (1) �W, (2) U�W, (3) �W, (4) U�W, (5) �W  
  (1) True, (2) False, (3) True, (4) False, (5) True 
 (K)  (1) �W, (2) �W, (3) U�W, (4) U�W, (5) U�W  
  (1) True, (2) True, (3) False, (4) False, (5) False 
 (w)  (1) U�W, (2) �W, (3) �W, (4) U�W, (5) �W 
        (1) False, (2) True, (3) True, (4) False, (5) True 

����....5.5.5.5.    UD& MUD& MUD& MUD& M�"�"�"�"[*+E ��[*+E ��[*+E ��[*+E �� –   2222    × × × × 10101010    = 20 = 20 = 20 = 20     
    Very Short QuestionVery Short QuestionVery Short QuestionVery Short Questionssss    ----    

1. D Y JY |�:�� :+ �*	� ©	& :*L S / Find the range of the given data. 

  1,  2,  3,  4,  8,  1,  2,  3 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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2. D:�+ u	ª Du« � � �O[ �* D:&T+ ¬X) *�]	 ];%+ �	 �:&+ �D%� u&	KE �S 
 Explain with diagram that how many tangents can be drawn to a circle from 

an external point. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

3. �

��√�
 :�  Q* :	 �D*<�E+:*$ :+D�Y S / Rationalize the denominator of �

��√�
 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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4. Y:l"T �T �"�®$ �"� {	*	 J '$T�M ©	& :*L S  
 Find the product by the Eknyunen Purven formula. 

   2 1 4 × 9 9 9 9 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

5. u��  (3�� + 4�
 + � ) <L � � � !	J  +D�Y S 
 Divide the polynomial (3�� + 4�
 + � ) by �  

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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6. D�! '� :+ ��	�J�<&	 :	 DTE< DMD]Y S 
 Write down the law of congruence of triangles. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

7. Y: �T :+ :j* 5 <+v* QV &j �T :�  D�:$ ) :+ M�u	w ©	& :+D�Y S 
 The edge of a cube is 5 meters. Find the length of diagonal of cube. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

8. Y: D� �̄  :�  Z°	MT � �* �v |T � :+ �	DE:&	 ©	& :+D�Y S 
 Find the probability of getting tail when a coin is tossed. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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9. ED  x = 1  * y = 2 QV, &j �<+:*$ x + y = k  <L k :	 <	T ©	& :+D�Y S 

 If x = 1 and y = 2, then find the value of k in the equation x + y = k.   

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

10. Y: D�! '�	:	* < V 	T :+ ! '�	Y k `<X± 7 <+., 8 <+. Y��  9<+. QV, &j < V 	T :	 �D*<	� ©	& :*LS 
 The sides of a triangular field are respectively is 7 m., 8 m. and 9 m. then 

find the perimeter of the field. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

����....6.6.6.6.    MMMM�"�"�"�"[*+E �� [*+E �� [*+E �� [*+E �� ––––            3333    × × × × 5555    = 15= 15= 15= 15    
    Short Answer Type Questions Short Answer Type Questions Short Answer Type Questions Short Answer Type Questions ----    

1. DT² T <L D�! '�b :�  T	< DMD]Y - 
 Write the names of the following triangles - 

 
 

 

 

 

 

-------------------------------------------- 
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2. Y: �T	! :+ M§	w 6 <+, %��	w 8 <+., &(	 Zk%	w 2 <+. QV, &j �T	! :	 �³"$ ) �OP+E , ���M ©	& 
:*LS 

 The length of a cuboid is 6 m., breadth 8 m. and height 2 m., then find the total 
surface area of cuboid. 
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3. 52�4�  D�T:'M< ¡ ���	 :j �	<	l ���	 <L u DMY S 
 Convert Vinkulam number 52�4�  to general number.    
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4. D:�+ �<:j$ D�! '� <L :$ ) :+ M§	w 25 <+. Y�� M	�u :+ 24 M§	w <+.QV &j |�	* :+ M§	w ©	& 
:+D�Y  S 

 In a right triangle the length of hypotenuse is 25m and the length of 
perpendicular is 24 m, then find the length of the base. 
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5. 3  * – 3 :�  u��  p(x) = �
 + 9 :�  X"l: QjT � :+ �	k% :+D�E� S 
 Check whether 3  and – 3 are zeros of the polynomial  p(x) = �
 + 9 
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����....7.7.7.7.     +� ) Z[*+E ��  +� ) Z[*+E ��  +� ) Z[*+E ��  +� ) Z[*+E �� ––––            5555    × × × × 4444    = 2= 2= 2= 20000    
    Long Answer Type QLong Answer Type QLong Answer Type QLong Answer Type Questions uestions uestions uestions ----    

1. Y: �T	:	* v�:+ :	 |E&T 150 �T <+v* QV &j u&	KE � �T	:	* v�:+ D:&T � M+v* �	T+ |YJ	 ? 
 If the volume of a cubic tank is 150 cubic meters, then how many litres of 

water will the cubic tank hold ? 
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2. u��	ET X '́  u�"� :�  DT�DMD]& µj: :+ �	�	 :*&� �Y, u&	KE � EQ �"� :u �EjJ D:E	 �	&	 QV ?  
 Explaining the following shloka of Baudhayana Shulbasutra, state when this 

sutra is used? 
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3. D:�+ �	��	DE: �D&P	T <L D�D!» < b �* D:E	 �	T � �	M	 �E K� �:	* QVS K�:j  ¼½ |M�] 
{	*	  X	 )KYS 

 In a business establishment, the expenditure incurred on various items is in 
the following way. Shown it by bar graph. 

<  / Item �E (Q�	*b <L)/Expenditure ( in thousands) 

��&T / Salary 500 

 E	�	 �E /Travelling Expenses 100 

 D:*	E	 / Rent 200 

 Ul �E / Other Expenses 100 
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4. �	k% :*L D: DT�DMD]& <L � � :�T - :�T � � �<+:*$ m + n = 20 :�  QM QV S 

 Check which of the following are solutions of the equation m + n = 20 

(i)  (10, 10) (ii)  (10, 5) (iii)  (3, 15) (iv)  (15, 5) (v)  (2, 12) 
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